Dear Parents/Carers,

This powerpoint takes the children through the learning
sequence. If possible please talk through the slides with
your child and check their understanding. The slides
start at a basic level to re-cap previous learning.

Consolidation of money

23.6.20




23.6.20

LO: T can convert pounds and pence




Starter

Find 4 different ways to make £1.




Starter - answer

Find 4 different ways to make £1.

Various answers, for example:

50p + 50p = £1; 20p + 20p + 20p + 20p + 20p = £1;
50p+20p+10p+10p+10p=£1; 50p + 10p + 10p + 10p + 5p + 5p +
S5p+5p=£1.




Descriptive Teaching

Complete the amounts to make them equal.

A. 418p and

B. P = £5 and 92p

C. £7 and 24p
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Descriptive Teaching - Answer

Complete the amounts to make them equal.

A. 418p = £4 and 18p
B. 592p = £5 and 92p
C. £7 and 246p = 726p

There are 100p in

£1




Descriptive Doing

Circle the amount that will complete the statement.

823p £7 and 9p

£7and 81p <




Descriptive Doing - Answer

Circle the amount that will complete the statement.

£7 and 9p

£7and 81p < 823p




Reflective Teaching

Put these amounts in order from the smallest to the largest.

A.| £4 and 46p B. 3%91p




Reflective Teaching - Answers

Put these amounts in order from the smallest to the largest.

A.| £4 and 4ép B. 3%91p

B,.C A




Reflective Doing

Complete the conversion table.

Pounds and Pence Pence
£2 and 56p p

~ _and 763p
£5 and 10p p

 __and 484p




Reflective Doing - Answers

Complete the conversion table.

Pounds and Pence Pence
£2 and 56p 256p
£7 and 63p 763p
£5 and 10p 510p
£4 and 84p 484p




Independent work

The following slides are questions for you to work through
independently.

There are 3 sets of work - 1 chili (the easiest), 2 chilies, 3
chilies (the hardest). Choose one set you feel most
comfortable with.




Independent work

1a. Complete the amounts to make them | 1b. Complete the amounts to make them
equal. equal.
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Independent work

2d. Circle the amount that will complete

the statement.
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2b. Circle the amount that will complete
the statement.
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Independent work

3d. Put these amouvunts in order from 3b. Put these amouvunts in order from
smallest to largest. smallest to largest.

Ak .
A. @@. B. | £3and 17p A | £2and12p | B GQ.
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Independent work

4a. Complete the conversion table:

4b. Complete the conversion table:

Pounds and pence Pence Pounds and pence Pence
£ and50p 1_ p £ and30p 2 p
f9and __ p _ 30p £7and_ p _25p
£2and__ p _75p £ andd4dp 3 p
£ andd40p 3 p f4dand_ p _ 73
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Independent work

5a. Complete the amounts to make them

equal.

A. and = 354p
B. | £2and 45p | =

C. and = 452p
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5b. Complete the amounts to make them

equal.

A.| Eland 98p | = P
B. and = 308p

C. P =| £5and 17p




Independent work ) j
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6a. Circle the amount that will complete
the statement.

[£3 and 1p}
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&b. Circle the amount that will complete

the statement.
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Independent work j j

7a. Put these amounts in order from 7/b. Put these amounts in order from
smallest to largest. smallest to largest.

A. | £E4and 3% B. 358p A. | £6and 58p B. 593p
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Independent work

8a. Complete the conversion table:

8b. Complete the conversion table:

Pounds and pence Pence Pounds and pence Pence
£1and 47p o] £6and 77p
__and___ 995p _and__ 795p
£4 and 13p p £2 and 13p
__and___ 564p _@and__ 324p
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Independent work j}j

9a. Complete the amounts to make them | b. Complete the amounts to make them

equal. equal.
A Two £5 notesand | _ and A _ |Seven £1 coins and
' six 5p coins - — ' —FP - nine 5p coins
Four £2 coins and Six £2 coins and

B. —F = | seven 10p coinz B. and__

twelve 2p coins

Nine 50p coins and cC Two £5 notes and

E— seven 20p coins i five 50p coins and

C. and




Independent work

104a. Circle the amount that will complete

the statement.

Five 50p
coins, two 20p
coins and one

-
Three £2

coins, one

2 :
. 2P coin

50p coin

~

coins, fen 5p

“One £5 note,
three 50p
coins, seven
5p coins, two

/. 2p eceoins

ﬁﬁr 333p <

_ £6 and
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10b. Circle the amount that will complete

the statement.

- I
Six 50p coins,

three 10p
coins and

ight 1 [
_eight 1p coins

/'six 50p coins,
twelve 5p
coins and
seven 1p

" Three £1
coins, one
50p coin, four

AN

coins

2p coins and
.one 20p coin
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Independent work )j}

11qa. Put these amounts in order from 11b. Put these amounts in order from
largest to smallest. largest to smallest.

Nine £2 coins
Three £5 notes .
A. and six 20p coins B. 247p A. 738p B. | and mg_hi 10p
coins
C Seven lots of £1 coins, five 50p coins, one C ne £10 note, six £1 coins, seven 20p coins
" £2 coin and eight 1p coins ] and twelve 2p coins

B - | £




Independent work

12a. Complete the conversion table:

12b. Complete the conversion table:

Notes and coins

Pounds and pence

Notes and coins

Pounds and pence

Three £5 notes, four £1

One £20 note, two 5p

coins and two 5p coins and__ coins, and one 1p coin and
One £10 note, four £2 Two £5 notes, four £1
. . . and . . . and
coins and eight 2p coins coins and six 20p coins
Four £2 coins, nine 10p Nine 50p coins, two 20p
coins and three 2p coins P coins and six 2p coins
and £20 and P and £15 and

twelve 5p coins.

seventeen 1p coins

By

WF

B




Answers

Developing
1a. A. £1 and 30p; B. 204p: C. £3 and 77p

2a.£2 and 19p

3a. A B, C

4a. The table should be completed as
follows:

Foundh ahd BEsce FPenee

7 ond 50n hE

£4 and 30p 2t

1.ond ip .

1 and ate Bate
Expected
Sa. A. £3 and 54p: B, 245p: C. £4 and 52p.
éda.£3 and 1p
Ja.B A, C

Ba. The table should be completed as
follows:

P nnd EEacE Fencs

BN and dfp narp

EF andl Tip g

A and | g Al dg

B5 ol b Sddp
Greater Depth

%a. A. £10 and 30p; B. 870p; C. £5 and ?0p
10a. One £5 note, three 50p coins, seven
Sp coins, two 2p coins

1a. A C. B

12a. The table should be completed as
follows. There maybe variations where
answers involve notes:

ke gndlpoins | Powech asd pasce |

Tvws 8 eniwn 0w L1

oo el bae b ol IF mnd Mip

P L 10 Sidwa Foas 03 &
A |
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el barmbes B cadm J

Developing
1b. A. 455p; B. £1 and 45p; C. 114p

2b. £5 and 51p

3b.B A, C

4b. The table should be completed as
follows:

HHE]

Sb. A. 198p: B. £3 and 8p: C. 517p

&b. £3 and &4p

7b.C. B, A

8b . The table should be completed as
follows:

Foundh ond peace Panse
i il 1Tp i
£F and #ie e
£1 and 1 1ite
£3 ond J4p e
Greater Depth
?b. A. 745p;: B. £12 and 24p; C. £12 and

S50p
10b. Six 50p coins, twelve 5p coins and

seven 1p coins

11b. B, C, A

12b. The table should be completed as
follows. There maybe variations where
answers involve nofes;
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Fay has these coins in her pocket. Does she have enough money to
buy a watch that costs £14 and 63p? Convince me.




Reflection Time - Answers

Fay has these coins in her pocket. Does she have enough money to
buy a watch that costs £14 and 63p? Convince me.

Fay has £10 and 445p = £14 and 45p. £14 and 45p is less than £14
and 63p so she doesn’t have enough money.




